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1. fotmp e fracass Tes fm - 1x8=8

Answer the following as directed :

(@) T8 WA cFae Giga @9 =7 |

The Engel curve for an inferior good

() FEars

slopes downward

(ii) SR

slopes upward
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(2)

(ii)) ST
is a horizontal line
(iv) SRR OIS 7
None of the above

(w7 Seol 3R Sferean)

(Choose the correct answer)

(b) & TSGR S| AS FAI§ S
Ll

A consumer is in equilibrium when

() M 5
MUy Py

(ii) MU, <—}-)£
MUy Py

(iti) MUS =&
MUy Py

(iv) {9 T
All of the above

(wa Teao! A1fe Bferean)

(Choose the correct answer)
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(3)

() e W @R TS I/ @I IRMH W
S T I =7 |

The marginal cost curve intersects the
average cost curve, when AC is

(i) >
maximum
(ii) >y
minimum
(iti) TN
rising -
(iv) PR
falling
(= Teh! AR Sferean)

(Choose the correct answer)

@ R = IFeea & g@
What do you mean by ‘ridge line”?
(e) T Y51 Totwm <ff Rm 70 =, (o0 FATLAATH
(o . |
(1T 31 =3 F741)

If two factors are perfect substitutes, the
isoquant line will be

(Fill in the blank)
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(4)

(H TR R (AR GR A |
Market price is a
(i) T
long-run
(i) FTIIA
short-run

(i) =S ZTTFE

very short-run

(o TeaCo! AR Tfeean)

(Choose the correct answer)
(g) 9% AR 2AfSHc LTS F9 TeRS
S e A | (wm 7 STe {o14T)

In the long-run, a firm under perfect
competition can earn only normal profit.

price.

(Write True or False)

(h) R RTATR ToE 2, AR 93 GO
AR (6T Teolfis TANGR W RfSTIe
fRfen qmEe RSy ARt T = |

(W= 7 oreg f#14)
Price discrimination will be profitable
only when the monopolist finds that the
price elasticity of demand for his
product is different in different markets.

(Write True or False)
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2. oo frapm R el siReR ev[e 5 G foran
(4fSTh seo *RE fo1©) : 4x4=16

Write short notes on any four of the following
(within 150 words each) :

(@) viRTR o fefsmrre

Cross elasticity of demand

(b) TeAMER AT I

Social cost of production

(¢ wi¥s fegfie
Economies of scale
(d) TooR A
Deadweight loss
(e) T RY

Prisoner’s dilemma

3. (a) VIR T Rfegrre WE & w2 vfE ®@
fefegrere dm@ Tamerm Rew e
[ Tye foqq RS WR-Serel @
(PCC)I 41RICHT 3961 <41 | 2+5+7=14
What do you mean by price elasticity of
demand? Explain the factors that
determine the price elasticity of demand.
Describe the concept of price-
consumption curve (PCC) with
appropriate diagram.
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(6)

w5 </ Or

(b) TREER wEwel W R FRer @

YRR S Soree STl IR 41
2+12=14

What is consumer equilibrium? Explain
consumer’s equilibrium with the help of
indifference curve approach. ‘

|
4. (a) o WA Aforw Rt &2 A (¥R \
Scanl ¥4 | 2+12=14

What is the law of returns to scale?
Discuss increasing, constant and
decreasing returns to scale with the help

of isoquants.
AT / Or

(b) WWWGWWW%m@m |
WUW@,WWIWWW 1
@< TEEe e I @@ el =, |
AT 4 | 7+7=14 |

Explain why the short-run average cost [
and long-run average cost curves are
U shaped. Discuss why a long-run
average cost (LAC) curve is flatter than
the short-run average cost (SAC) curve.
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5. (o) ~HeferfirenEe T 3N & 7@ 2.

(b)

6. (a)

P25/72

el Toms W fsEem R
POl e 7T, TRE Baw REe wam
9 2+12=14
What do you mean by perfectly
competitive market? Explain, with the
help of suitable diagram, how firms and
industry under perfect competition
attain equilibrium during short-run.

Y1/ Or

7 RS TR IR ARG 5

&7 ™ Reefiead MR e g azositar
TAMRRIE FEE SR W WF TN
“f{we fd=a e, IRm 90 4+10=14
What are the necessary conditions for
price discrimination to be successful?
Explain how a monopolist determines
equilibrium price and output under the
policy of price discrimination.

FEReE o EREE B 0 gt Witk
RS TWRCES TR SR wR-Beo(m
Refga afemaesr aman w1 4+10=14
What are the characteristics of oligopoly?
Explain the equilibrium price-output
determination process in oligopoly with

the help of Cournot’s model.
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(8)

%51/ Or

(b) TERCFOR IJ|/E IF QCH? IER[&
SR ST AT SIS W 40
2+12=14

What is oligopoly market? Critically
discuss the Baumol’s model of sales
maximization.
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